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Note :- Attempt all questions.
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General Instructions :-
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Use diagrams or flow diagrams if it is necessary.
(i) W UIH 23 V26 T & TF ¥ Il famea A @)
In question no. 23 to 26 internal options are given.
(i) Ie-qRaFT F W & HLa A wd e ik feafed

Write correct question no. in your answer copy while solving the
question.

(iv) s R Pdwmgem s fod

Write the answer of the question paper as instructed.
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Instructions:

(A) Question No. 1 to 5 are very short answer type
questions. Each question carries 1 mark. Maximum
word limit is 1 word / 1 sentence.

[t o1 Il v
[Very Short Answer Type Questions]

-1 I & SIerEA F B G 9eTY YT Sar 87

Which substance is found in the outer layer of pollen
grain?

W2 TEHIEE v fE o wlteor & oY st 27
By which test, typhoid fever is examined?

WH-3  DNA G e YR 3 smafia sy e &
Which type of charge is found in DNA segments?

w4 o oy foaw s wamr s @
When is World Animal day celebrated?

-5  G.PP. &qwam ey
Write full name of G.PP.
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Instruction:

(B) Question No. 6 to 10 are short answer type

questions. Each question carries 2 marks. Maximum
word limit of answer is 30 words.

[ I 9H1)
[Short Answer Type Questions]
TH-6 T T2 2]
What is Apomixis?
Y7 GERT S T 7 O Sere fafed [14+1=2]
 Whatis connecting link? Wnite an example. |
U8 ST T R? (2l
What is Operon?
W9 FEUTHHE Q awor e [1+1=2]
~ Wirite any two symptoms of Leprosy disease.
u-10 e Ielendt & wig @ swn fafey 1+1=2]
Write any two uses of DNA finger pnnting.
= ‘
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Instruction:

(C) Question No. 11 to 22 are short answer type
questions. Each question carries 3 marks. Maximum
word limit of answer is 50 words.
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[Short Answer Type Questions)

TA-11 i FoH F 1S S0 & o o & e Al 3]
Jrefepft fantra 7t &t <t = @

What will happen if meiosis does not take place during

gametogenesis in those organisms which reproduce
sexually?

We-12 T ST ItE & Ao il @t fafadn @ ey |14;1+1

Write the social causes of human population growth. =3]
(any three)

T¥3-13 mwmmqﬁmwm@mwﬂiﬁm% 3]
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When a colour blind carrier female married with a
normal male then workout the progeny of these parents -

with the help of ray diagram only.

TH-14 Tyl oS Tt 3 @i i o fefiadn [1+1+1
Write any three differences between Homozygous and - =3]
Heterozygous. |

W15 SO 9w i Rl 3]

Write transcription in brief,
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Define tissue culture and write its importance. (any two)

$EORT W wifigw feuroft fafigin

Write short note on interferon.

oS & e fafigd
Write the types of Plasmid.

aﬁwwwb%maﬁma&%ﬁﬁ
vy fefan

What is global warming? List any two strategies for
reducing global warming.

TSl o 37 w=TfoEt F +iE ot siar fafiah

Write any three differences between species and sub-
species.

areTe TRRfaE 773 F JER FEe F e NG T
R

- Explain the food chain of a pond ecosystem with a ray

diagram only.

T AR el S ) foreq e &, b

Why do humans deliberately want to make any species
extinct? ‘

(142 =3]

3]

3]

[142=3]

[1+1+1
=3]

[142=3]
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Instruction:
- (D) Question No. 23 is long answer type question. This

question carries 4 marks. Maximum word limit of
answer is 75 words.

HRESRRAS
[Long Answer Type Questions}
wer23  of R &7 cEie o A e R (2424
A gk g
- What is gene therapy? Illustrate using the example of
adenosine deaminase deficiency.

Al
OR -

ST, TS Tehften T &7 T i o R g
(I AR )
What is recombinant D.N.A. technology? Write its steps.
(any four steps)
fm |
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Instruction: '
(E) Question No. 24 to 26 are long answer type

questions. Each question carries 5 marks. Maximum
word limit of answer is 150 words.
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[Long Answer Type Questions)
24 RIS T &7 YERIOS T ERAT 1 Fae v [143+1
TR 3 # fa g a1 fmior g 3, fafiag - =5§)

What is Spermatogenesis? Explain the process of
Spermatogenesis only by ray diagram and write how
many gametes are formed at the end?

HYqQT

OR -
HUSIT T 87 AU I IThaT T FaeT L@ TR
3 3 foba g o Pt @t 8, forfleg.
What is Oogenesis? Explain the process of Oogenesis
only by ray diagram and write how many gametes are
formed at the end?

W25 AT N AEIEAT ] STER R s A ATy (14242
9T T T Efa gl iR =5)

Name the nucleic acid responsible for heredity in human
being. Draw its ray diagram and explain it.

YT
OR

DNA fagfaaor 7 &2 DNA Sfisfieor 6 s
fafer &1 afaw avia Hifedn

What is DNA Replication? Explain its semiconservative
method with diagram.
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Toremra e &2 wmEmed =5
(B) 34 ggwrsfia &1 An7 fafigy et amgaitedifier.u qar
Ry foram s
(C) |rE A 1 ush 3T fafay

(A) To make curd from milk, why inoculum fluid is
- added to it? Explain.

(B) Write the name of micro-organism from which
Cyclosporin A and Stanin are obtained.

(C) Write one use of Cyanobacteria.
HEqT
OR
(A) OF ) FE ¥ TS SoTeT FE Y $ TR A IR,
7
(B) 3 i % I fifee fomd B o Alisrmr
e 7o4 TH 36 Sy &2
(C) ‘AT 1 T 5 fafdg |
(A) Why pulse crops are advised after 'paddy crops?
(B) Write the names of those plants from which drugs
‘Smack’ and ‘Marijuana’ are obtained.
(C) Write one use of ‘Azolla’.
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